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nt of that Question No. Use Marker or Pen to fill the circles. Cutti
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Q.No.1 -v3 . . T T 1 -7
(1) if Cosx = — then its Reference Angle is : (A) ‘3- (B) a H(C) y (D) —6_
(2) | cos(sec (1)) = (A) 1 (B 0 () 30° (D) 2
(3) s{(s-a) a B | B a

be |~ W) Smp Bl sng OET g~
(4) If ABC be|any Triangle and y = 900, then :
(A) a’+ b2 = ¢ (B) a’+ct = b’ (C) b+ = a’ (d) a’+bi+c = 0
x ‘
(5} | period of |sin < s (A) 27 (B) = (C) 10m (D) 5w
(6) | 25in12° sina6° = : (A) Cos34° Cos58° (B) Sin34° + Sin58° (C) Sin34o— Sin54° (D) Cos34°— Cos58°
: |
(7) 7" Radians equals to : (A) 220° (B) 150° (C) 270° (D) 190°
(8) | The Vertex of an angle in standard form is at ‘
(A) (0.0) (B) (1,0) (C) \(0,1) (D) (1,1)
(9) |In the Expansion of (a+b)7, the 2" term is : {A) a (B) 7a°b (C) 7ab® (D) 70°
(10) \"p = .. (A) n! (B) (n+1)! (C) 1 (D) (n-1)!
(11) | Harmonic Mean between X and y is :
2(x+y) 2xy Xty xX+y
W =2 @ 75 @5 e 5
1 2 3 4
. 1 2 3 @ .
(12) | The nth term of the sequence 3' 5’77’59 is ] i
n n :
(A) 2n—- 1 (8) 2n + 1 EC) In—~ 1 fD) 3n+1
{13) | The next two terms of the sequence 1,3,7,15,31 - are
(A) 112,288 (B) 122,144 (C) 102,188 (D) 63, 127
1
(14) | partial Fractions of aTEsi e W=
1 1 1 1 1 1 1 1
g+ g Bl -7 @ ¢ pre il Beliateony
(15) | «,B aré the roots of the equation Xo—dx +§ =0 , then af is equal to :
(A) 2 (B) 4, () 5 (D) -4
(16) {(a +b)x 3 ax + bx is called : (A) Identity (B) Equation (C) Coﬁditional {D) Fraction
(17) 1 -2 3
¥ A =|(-2 3 1 , then Aszz equals : (A) -1 (B) 1 (C) 7 (D) -7
4 -3 2
(18) [ (I){ IO(] is| : (A) Zero Matrix (B) Non - Diagonal Matrix (C) Identity Majtrix (D) Scalar Matrix
(19) (f ACB fnd BS A, then : (A)A=¢ (B) A=B (C) B=@® (D)ANB= 0
(20) | The Multi%cative Inverse of Complex Number (0,1} is
(A) (0,-1) (B) (0,1) (C)(-1,0) (D){0,0)
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Note: It is comhpulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.N¢.3 while attempt
any (9) Parts ffrom Q.No.4. Attempt any (3) Questions from Part - Il .Write samg Question No. and
its Part No. as given in the Question Paper. ‘

Part- | M 2 ! | 25x2=50

Q.No.2 | (i) |Find the Sum and Product of the Complex Numbers (8,9) and (5,—6).
2~ 7
4 + 5i
(ill) | For all [Complex Numbers Z , show that Z2 + Z° is a real number.

(i) SeparaJe into Real and Imaginary Parts and write as Simple Complex Number.

/
(iv) | Convert the theorem (A N B) = A' U B' into logical form and pro&e by constructing
the Trqth Table.

v | 6 iL a group under the operation * and a,b € G, then solve the equation

a* x=>b

(vi) | write the Descriptive Form and Tabular Form of the Set { x| x E‘ O0A3 < x<12 }

(vii) If Ak 12 and A2 =0 9 find the values of a and b.
a b 0 0 '

1. -2 3
(viil) | Find the Co-factors Aqp and Ay if A = [—2 3 1 ]

4 -3 2
| 2
(ix) | Find the value of Xx if (x) |f a, p are the roots of 5x —x~2 =0
3 1 «x then form an equatidn whose roots are
-1 3 4 = - 30 3 3 ‘
X 1 0 it d —
@ an ﬁ
—a
(xi) | Find Three Cube Roots of Unity. {xii) | Solve the Equation 2x - 32 =10
Q.No.3 | () | wrig Ry x-S in form of Partial Fraction without fisding th tant
<IND. rite in form of Partial Fraction without finding the constants.
x-2)(x%+7x +10) P
7)
. x
)| write 5- in form of Partial Fractions without finding the constants.
x-2)(x-1) e ]

(iii) Calculatre (2 .02 )4 by means of Binomial Theorem.

(iv) | A die {s rolled . What Is the Probability that dots on the Top are greater than ‘4’ ?

x 2
(v) | Use Binomial Theorem to expand (-2— —- 3 )6

1
{vi) | Expand [ 4 ~ 3x )2 upto three terms taking the values of ‘x “such that Expansionis valid.

vil) | Find ak of the sequence (viii} | Sum the Series
3 5
1,-3,5,-7,9,=11, FrWV2 4+ 5+ +an
(ix) | Find two G.M.’s between 2 and 16. () | Which term of the A.P. 5,2 ,— 1 --is —85?
n n,
(xi) | Evaluate 20p3 (xii) |[f Cg = Cq3 find ‘n*

Q.No.4 | (i) | what I$ the circular measure of the angle between the hands of a \Aqatch at 40 Clock ?
(ii) | Verify |Cos20 = 2C0529 -1, when 0 = 30°,45°

(iii) | Prove that Cdsaa - Sin46 = Coszﬂ - SinZB for all 8 €ER

{(iv) | Find the value of Cos 105°




